

A Generalized Ruscheweyh Derivatives Involving a General Fractional Derivative Operator Defined on a Class of Multivalent Functions II

Waggas Galib Atshan

Department of Mathematics
University of Pune, Pune-411007, India
waggashnd@yahoo.com

S. R. Kulkarni

Department of Mathematics
Fergusson College, Pune-411004, India
kulkarni_ferg@yahoo.com

Abstract

In this paper, we introduce the class $\Sigma_p^{\lambda, \mu}(\gamma, \beta)$ by using the generalized Ruscheweyh derivatives involving a general fractional derivative operator. The aim of this paper is to study some interesting properties of this class, the coefficient bounds, radii of starlikeness and convexity and Quasi-Hadamard product are obtained, we have also several results in our paper.

Mathematics Subject Classification: 30C45

Keywords: Generalized Ruscheweyh derivatives, Fractional derivative, radii of starlikeness, Quasi-Hadamard product, Integral operator

1. Introduction

Let $T(n, p)$ denote the class of functions of the form

$$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k, \quad (n, p \in \mathbb{N}, a_k \geq 0) \quad (1.1)$$

where $f(z)$ is analytic and multivalent function in the unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$. Then the function $f(z) \in T(n, p)$ is said to be in the class $S(n, p, \alpha)$, if and only if

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > \alpha, \quad (z \in U, 0 \leq \alpha < p). \quad (1.2)$$

A function $f(z) \in S(n, p, \alpha)$ is called multivalent starlike of order α . A function $f(z) \in T(n, p)$ is said to be in the class $C(n, p, \alpha)$, if and only if

$$\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \alpha, \quad (z \in U, 0 \leq \alpha < p). \quad (1.3)$$

A function $f(z) \in C(n, p, \alpha)$ is called multivalent convex function of order α . It is observed that

$$f(z) \in C(n, p, \alpha) \text{ if and only if } zf'(z) \in S(n, p, \alpha) \quad \forall n \in \mathbb{N}. \quad (1.4)$$

We recall here the fractional derivative operator given by Definition 1.1 below. (See, e.g. [4], [5]).

Let $a, b, c \in \mathbb{C}$ with $c \neq 0, -1, -2, \dots$. The Gaussian hypergeometric function ${}_2F_1$ is defined by

$${}_2F_1(z) \equiv {}_2F_1(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n} \frac{z^n}{n!} \quad (1.5)$$

where $(\lambda)_n$ is the pochhammer symbol defined, in terms of the Gamma function, by

$$(\lambda)_n = \frac{\Gamma(\lambda + n)}{\Gamma(\lambda)} = \begin{cases} 1 & (n = 0) \\ \lambda(\lambda + 1) \cdots (\lambda + n - 1) & (n \in \mathbb{N}) \end{cases} \quad (1.6)$$

Definition 1.1 : Let $0 \leq \lambda < 1$ and $\mu, \nu \in \mathbb{R}$. Then, in terms of familiar (Gauss's) hypergeometric function ${}_2F_1$, the generalized fractional derivative operator of order λ for a function $f(z)$ is defined by:

$$J_{0,z}^{\lambda, \mu, \nu} f(z) = \begin{cases} \frac{1}{\Gamma(1-\lambda)} \frac{d}{dz} \left\{ z^{\lambda-\mu} \int_0^z (z-\mathcal{E})^{-\lambda} f(\mathcal{E}) \cdot {}_2F_1(\mu-\lambda, 1-\nu; 1-\lambda; 1-\frac{\mathcal{E}}{z}) d\mathcal{E} \right\} & (0 \leq \lambda < 1) \\ \frac{d^n}{dz^n} J_{0,z}^{\lambda-n, \mu, \nu} f(z), & (n \leq \lambda < n+1, n \in \mathbb{N}) \end{cases} \quad (1.7)$$

where the function $f(z)$ is analytic in a simply-connected region of the z -plane containing the origin, with the order

$$f(z) = O(|z|^\epsilon), \quad (z \rightarrow 0), \quad (1.8)$$

for $\epsilon > \max\{0, \mu - \nu\} - 1$, and the multiplicity of $(z - \mathcal{E})^{-\lambda}$ is removed by requiring $\log(z - \mathcal{E})$ to be real when $z - \mathcal{E} > 0$.

The fractional derivative of order λ of a function $f(z)$ is defined by

$$D_z^\lambda \{f(z)\} = \frac{1}{\Gamma(1-\lambda)} \frac{d}{dz} \int_0^z \frac{f(\mathcal{E})}{(z-\mathcal{E})^\lambda} d\mathcal{E}, \quad 0 \leq \lambda < 1, \quad (1.9)$$

where $f(z)$ is chosen as in (1.7), and the multiplicity of $(z-\mathcal{E})^{-\lambda}$ is removed by requiring $\log(z-\mathcal{E})$ to be real when $z-\mathcal{E} > 0$.

By comparing (1.7) with (1.9), we find

$$J_{0,z}^{\lambda,\lambda,\nu} f(z) = D_z^\lambda \{f(z)\}, \quad (0 \leq \lambda < 1). \quad (1.10)$$

In terms of gamma function, we have

$$J_{0,z}^{\lambda,\mu,\nu} z^k = \frac{\Gamma(k+1)\Gamma(1-\mu+\nu+k)}{\Gamma(1-\mu+k)\Gamma(1-\lambda+\nu+k)} z^{k-\mu} \quad (1.11)$$

($0 \leq \lambda < 1, \mu, \nu \in \mathbb{R}$ and $k > \max\{0, \mu - \nu\} - 1$).

Definition 1.2 : Let $f(z) \in T(n, p)$ be given by (1.1), then for $0 \leq \beta < p, \lambda > -1, p \in \mathbb{N}, 0 \leq \gamma \leq 1$, we define a new class of functions $\Sigma_p^{\lambda,\mu}(\gamma, \beta)$ consisting of functions f in $T(n, p)$ satisfying the condition

$$Re \left\{ \frac{z(\mathcal{J}_p^{\lambda,\mu} f(z))' + \gamma z^2(\mathcal{J}_p^{\lambda,\mu} f(z))''}{\gamma z(\mathcal{J}_p^{\lambda,\mu} f(z))' + (1-\gamma)(\mathcal{J}_p^{\lambda,\mu} f(z))} \right\} > \beta \quad (1.12)$$

where $\mathcal{J}_p^{\lambda,\mu} f$ is a generalized Ruscheweyh derivative defined by Goyal and Goyal [1, p. 442] as

$$\mathcal{J}_p^{\lambda,\mu} f(z) = \frac{\Gamma(\mu-\lambda+\nu+2)}{\Gamma(\nu+2)\Gamma(\mu+1)} z^p J_{0,z}^{\lambda,\mu,\nu}(z^{\mu-p} f(z)) = z^p - \sum_{k=n+p}^{\infty} a_k C_p^{\lambda,\mu}(k) z^k \quad (1.13)$$

where

$$C_p^{\lambda,\mu}(k) = \frac{\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)}. \quad (1.14)$$

For $\mu = \lambda = \alpha + p - 1, \nu = 1$, the generalized Ruscheweyh derivatives get reduced to Ruscheweyh derivatives of $f(z)$ of order $\alpha + p - 1$ (see, e.g. [2]):

$$D^{\alpha+p-1} f(z) = \frac{z^p}{\Gamma(\alpha+p)} D^{\alpha+p-1}(z^{\alpha-1} f(z)) = z^p - \sum_{k=n+p}^{\infty} a_k C_k(\alpha) z^k \quad (1.15)$$

where

$$C_k(\alpha) = \frac{\Gamma(\alpha+k)}{\Gamma(\alpha+p)\Gamma(k-p+1)}. \quad (1.16)$$

For $p = 1$, (1.15) reduces to ordinary Ruscheweyh derivatives for univalent functions [3].

2. Coefficient Bounds

Theorem 2.1 : Let $f(z) \in T(n, p)$. Then $f(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$ if and only if

$$\sum_{k=n+p}^{\infty} [(\gamma k - \gamma + 1)(k - \beta)] C_p^{\lambda, \mu}(k) a_k \leq (\gamma p - \gamma + 1)(p - \beta) \quad (2.1)$$

where $0 \leq \beta < p$, $0 \leq \gamma \leq 1$, $p \in \mathbb{N}$ and $C_p^{\lambda, \mu}(k)$ is given by (1.14).

Proof : Let $f \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$. By making use of (1.13), we get

$$(\mathcal{J}_p^{\lambda, \mu} f(z))' = pz^{p-1} - \sum_{k=n+p}^{\infty} k a_k C_p^{\lambda, \mu}(k) z^{k-1} \quad (2.2)$$

and

$$(\mathcal{J}_p^{\lambda, \mu} f(z))'' = p(p-1)z^{p-2} - \sum_{k=n+p}^{\infty} k(k-1) a_k C_p^{\lambda, \mu}(k) z^{k-2}. \quad (2.3)$$

Now using (2.2) and (2.3) in (1.12), we find that

$$Re \left\{ \frac{pz^p - \sum_{k=n+p}^{\infty} k a_k C_p^{\lambda, \mu}(k) z^k + \gamma p(p-1)z^p - \sum_{k=n+p}^{\infty} \gamma k(k-1) a_k C_p^{\lambda, \mu}(k) z^k}{\gamma p z^p - \sum_{k=n+p}^{\infty} \gamma k a_k C_p^{\lambda, \mu}(k) z^k + (1-\gamma)(z^p - \sum_{k=n+p}^{\infty} a_k C_p^{\lambda, \mu}(k) z^k)} \right\} > \beta$$

or

$$Re \left\{ \frac{(\gamma p(p-1) + p)z^p - \sum_{k=n+p}^{\infty} (k + \gamma k(k-1)) a_k C_p^{\lambda, \mu}(k) z^k}{(1-\gamma + \gamma p)z^p - \sum_{k=n+p}^{\infty} (\gamma k - \gamma + 1) a_k C_p^{\lambda, \mu}(k) z^k} \right\} > \beta$$

By letting $z \rightarrow 1^-$ through real values, we have

$$\begin{aligned} & (1-\gamma + \gamma p)\beta - \sum_{k=n+p}^{\infty} (\gamma k - \gamma + 1)\beta a_k C_p^{\lambda, \mu}(k) \\ & \leq (\gamma p(p-1) + p) - \sum_{k=n+p}^{\infty} (k + \gamma k(k-1)) a_k C_p^{\lambda, \mu}(k). \end{aligned}$$

Therefore,

$$\sum_{k=n+p}^{\infty} [(\gamma k - \gamma + 1)(k - \beta)] C_p^{\lambda, \mu}(k) a_k \leq (\gamma p - \gamma + 1)(p - \beta).$$

Conversely, assume that (2.1) holds. We will prove that (1.12) is satisfied and so $f \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$. Since $Re\{w\} > \beta$ if and only if $|w - (1 + \beta)| < |w + (1 - \beta)|$, it is sufficient to show that

$$Q = \left| \frac{z(\mathcal{J}_p^{\lambda, \mu} f(z))' + \gamma z^2(\mathcal{J}_p^{\lambda, \mu} f(z))''}{\gamma z(\mathcal{J}_p^{\lambda, \mu} f(z))' + (1 - \gamma)(\mathcal{J}_p^{\lambda, \mu} f(z))} - 1 - \beta \right| < \left| \frac{z(\mathcal{J}_p^{\lambda, \mu} f(z))' + \gamma z^2(\mathcal{J}_p^{\lambda, \mu} f(z))''}{\gamma z(\mathcal{J}_p^{\lambda, \mu} f(z))' + (1 - \gamma)(\mathcal{J}_p^{\lambda, \mu} f(z))} + 1 - \beta \right| = T.$$

Let $X = \gamma z(\mathcal{J}_p^{\lambda, \mu} f(z))' + (1 - \gamma)(\mathcal{J}_p^{\lambda, \mu} f(z))$, then we have

$$Q = \frac{1}{|X|} |z(\mathcal{J}_p^{\lambda, \mu} f(z))' + \gamma z^2(\mathcal{J}_p^{\lambda, \mu} f(z))'' - (1 + \beta)X|.$$

From (1.13), (2.2) and (2.3), we get

$$\begin{aligned} Q &= \frac{1}{|X|} |(p + \gamma p(p - 1) - (1 + \beta)\gamma p - (1 + \beta)(1 - \gamma))z^p - \sum_{k=n+p}^{\infty} [(k + \gamma k(k - 1)) \\ &\quad - (1 + \beta)(\gamma k - \gamma + 1)] C_p^{\lambda, \mu}(k) a_k z^k| \\ &= \frac{1}{|X|} |p(1 - (1 + \beta)\gamma) - (1 + \beta)(1 - \gamma) + \gamma p(p - 1)| z^p \\ &\quad - \sum_{k=n+p}^{\infty} (\gamma k - \gamma + 1)(k - \beta - 1) C_p^{\lambda, \mu}(k) a_k z^k| \\ &< \frac{|z|^p}{|X|} [(\gamma p - \gamma + 1)(p - \beta - 1) + \sum_{k=n+p}^{\infty} (\gamma k - \gamma + 1)(k - \beta - 1) C_p^{\lambda, \mu}(k) a_k |z|^{k-p}] \end{aligned}$$

and

$$\begin{aligned} T &= \frac{1}{|X|} |z(\mathcal{J}_p^{\lambda, \mu} f(z))' + \gamma z^2(\mathcal{J}_p^{\lambda, \mu} f(z))'' + (1 - \beta)X| \\ &= \frac{1}{|X|} |p(1 + (1 - \beta)\gamma) + (1 - \beta)(1 - \gamma) + \gamma p(p - 1)| z^p \\ &\quad - \sum_{k=n+p}^{\infty} (\gamma k - \gamma + 1)(k - \beta + 1) C_p^{\lambda, \mu}(k) a_k z^k| \\ &\geq \frac{|z|^p}{|X|} [(\gamma p - \gamma + 1)(p - \beta + 1) - \sum_{k=n+p}^{\infty} (\gamma k - \gamma + 1)(k - \beta + 1) C_p^{\lambda, \mu}(k) a_k |z|^{k-p}] \end{aligned}$$

when $z \in \partial U = \{z : z \in \mathbb{C} \text{ and } |z| = 1\}$. It is easy to verify that $T - Q > 0$, if (2.1) holds and so the proof is complete.

Remark 1 : The result (2.1) is sharp for the function $f(z)$ given by

$$f(z) = z^p - \frac{(\gamma p - \gamma + 1)(p - \beta)}{(\gamma(n + p - 1) + 1)(n + p - \beta) C_p^{\lambda, \mu}(n + p)} z^{n+p}, \quad (2.4)$$

where

$$C_p^{\lambda, \mu}(n+p) = \frac{\Gamma(n+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(n+\nu+2)}{\Gamma(n+1)\Gamma(n+\nu+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)}.$$

Corollary 1 : If $f(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$, then

$$a_k \leq \frac{(\gamma p - \gamma + 1)(p - \beta)}{(\gamma k - \gamma + 1)(k - \beta)C_p^{\lambda, \mu}(k)}, \quad (k \geq n+p, n \in \mathbb{N}) \quad (2.5)$$

where $C_p^{\lambda, \mu}(k)$ is given by (1.14).

3. Radii of Starlikeness and Convexity

Now we obtain radii of starlikeness and convexity.

Theorem 3.1 : Let the function $f(z)$ defined by (1.1) be in the class $\Sigma_p^{\lambda, \mu}(\gamma, \beta)$, then $f(z)$ is starlike of order δ for $0 \leq \delta < p$ in $|z| < R_1$, where

$$R_1 = \inf_{k \geq n+p} \left[\frac{(p-\delta)(\gamma k - \gamma + 1)(k - \beta)\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{(k-\delta)(\gamma p - \gamma + 1)(p - \beta)\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \right]^{\frac{1}{k-p}}. \quad (3.1)$$

The result is sharp.

Proof : To find the required result it is sufficient to prove that

$$\left| \frac{zf'(z)}{f(z)} - p \right| \leq p - \delta, \quad |z| \leq R_1. \quad (3.2)$$

But

$$\begin{aligned} \left| \frac{zf'(z)}{f(z)} - p \right| &= \left| \frac{pz^p - \sum_{k=n+p}^{\infty} ka_k z^k}{z^p - \sum_{k=n+p}^{\infty} a_k z^k} - p \right| = \left| \frac{-\sum_{k=n+p}^{\infty} (k-p)a_k z^k}{z^p - \sum_{k=n+p}^{\infty} a_k z^k} \right| \\ &\leq \frac{\sum_{k=n+p}^{\infty} (k-p)a_k |z|^{k-p}}{1 - \sum_{k=n+p}^{\infty} a_k |z|^{k-p}} \leq p - \delta, \end{aligned}$$

thus $\sum_{k=n+p}^{\infty} \left(\frac{k-\delta}{p-\delta} \right) a_k |z|^{k-p} \leq 1$.

Since $f(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$ the last inequality holds if

$$|z| \leq \left[\frac{(p-\delta)(\gamma k - \gamma + 1)(k - \beta)\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{(k-\delta)(\gamma p - \gamma + 1)(p - \beta)\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \right]^{\frac{1}{k-p}}.$$

This concludes the result.

Sharpness follows from the function defined by (2.4).

Theorem 3.2 : Let the function $f(z)$ defined by (1.1) be in the class $\Sigma_p^{\lambda,\mu}(\gamma, \beta)$, then $f(z)$ is convex of order δ for $0 \leq \delta < p$ in $|z| < R_2$ where

$$R_2 = \inf_{k \geq n+p} \left[\frac{p(p-\delta)(k-\beta)(\gamma k - \gamma + 1)\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{k(k-\delta)(p-\beta)(\gamma p - \gamma + 1)\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \right]^{\frac{1}{k-p}} \quad (3.3)$$

The result is sharp.

Proof : The proof follows exactly on the same lines as above and sharpness follows from the function defined by (2.4).

Theorem 3.3 : Let $f(z) \in \Sigma_p^{\lambda,\mu}(\gamma, \beta)$ be defined by (1.1) and c be any real number such that $c > -p$, then the integral operator

$$G(z) = \frac{c+p}{z^c} \int_0^z s^{c-1} f(s) ds, \quad c > -p \quad (3.4)$$

also belongs to $\Sigma_p^{\lambda,\mu}(\gamma, \beta)$.

Proof : By virtue of (3.4) it follows from (1.1) that

$$\begin{aligned} G(z) &= \frac{c+p}{z^c} \int_0^z s^{c-1} \left[s^p - \sum_{k=n+p}^{\infty} a_k s^k \right] ds \\ &= \frac{c+p}{z^c} \int_0^z \left(s^{p+c-1} - \sum_{k=n+p}^{\infty} a_k s^{k+c-1} \right) ds \\ &= z^p - \sum_{k=n+p}^{\infty} \left(\frac{c+p}{c+k} \right) a_k z^k \\ &= z^p - \sum_{k=n+p}^{\infty} h_k z^k \quad \text{where} \quad h_k = \frac{c+p}{c+k} a_k. \end{aligned}$$

But

$$\begin{aligned} &\sum_{k=n+p}^{\infty} \frac{[(\gamma k - \gamma + 1)(k - \beta)]\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} h_k \\ &= \sum_{k=n+p}^{\infty} \frac{[(\gamma k - \gamma + 1)(k - \beta)]\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \left(\frac{c+p}{c+k} \right) a_k. \end{aligned}$$

Since $\frac{c+p}{c+k} \leq 1$ and by (2.1) the last expression is less than or equal to $(\gamma p - \gamma + 1)(p - \beta)$, so the proof is complete.

Theorem 3.4 : Let $c \in \mathbb{R}$ ($c > -p$) if $G(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$, then the function $f(z)$ defined by (3.4), is p -valent in $|z| < \gamma$ where

$$\gamma = \inf_{k \geq n+p} \left[\frac{p(c+p)(\gamma k - \gamma + 1)(k - \beta)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{k(c+k)(\gamma p - \gamma + 1)(p - \beta)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \right]^{\frac{1}{k-p}}, \quad (3.5)$$

the result is sharp.

Proof : Let $G(z) = z^p - \sum_{k=n+p}^{\infty} h_k z^k = \frac{c+p}{z^c} \int_0^z s^{c-1} f(s) ds$ so

$$f(z) = z^p - \sum_{k=n+p}^{\infty} \left(\frac{c+k}{c+p} \right) h_k z^k, \quad c > -p.$$

Thus it is enough to show that $\left| \frac{f'(z)}{z^{p-1}} - p \right| \leq p$, $|z| < r$. But

$$\left| \frac{f'(z)}{z^{p-1}} - p \right| = \left| - \sum_{k=n+p}^{\infty} k \left(\frac{c+k}{c+p} \right) h_k z^{k-p} \right|,$$

then

$$\sum_{k=n+p}^{\infty} \frac{k}{p} \left(\frac{c+k}{c+p} \right) h_k |z|^{k-p} \leq 1. \quad (3.6)$$

Since $G(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$ by (2.1) we have

$$\sum_{k=n+p}^{\infty} \frac{[(\gamma k - \gamma + 1)(k - \beta)][\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)]}{(\gamma p - \gamma + 1)(p - \beta)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} h_k \leq 1.$$

Therefore (3.6) will be true if

$$\frac{k}{p} \left(\frac{c+k}{c+p} \right) |z|^{k-p} \leq \frac{[(\gamma k - \gamma + 1)(k - \beta)][\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)]}{(\gamma p - \gamma + 1)(p - \beta)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)},$$

or

$$|z| \leq \left[\frac{p(c+p)(\gamma k - \gamma + 1)(k - \beta)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{k(c+k)(\gamma p - \gamma + 1)(p - \beta)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \right]^{\frac{1}{k-p}}, \quad k \geq n+p$$

and this proves the result. Sharpness of this theorem follows if we put

$$f(z) = z^p - \frac{(c+k)(\gamma p - \gamma + 1)(p - \beta)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)}{(c+p)(\gamma k - \gamma + 1)(k - \beta)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)} z^k, \quad (k \geq n+p). \quad (3.7)$$

Theorem 3.5 : Let $f(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \beta)$, then the integral operator

$$F_\iota(z) = (1 - \iota)z^p + \iota p \int_0^z \frac{f(s)}{s} ds \quad (\iota \geq 0, z \in U), \tag{3.8}$$

is also in $\Sigma_p^{\lambda, \mu}(\gamma, \beta)$ if $0 \leq \iota \leq \frac{n+p}{p}$.

Proof : If $f(z) = z^p - \sum_{k=n+p}^\infty a_k z^k$, then

$$\begin{aligned} F_\iota(z) &= (1 - \iota)z^p + \iota p \int_0^z \left(\frac{s^p - \sum_{k=n+p}^\infty a_k s^k}{s} \right) ds \\ &= (1 - \iota)z^p + \iota p \left[\frac{1}{p} z^p - \sum_{k=n+p}^\infty \frac{a_k}{k} z^k \right] \\ &= z^p - \sum_{k=n+p}^\infty \frac{\iota p}{k} a_k z^k = z^p - \sum_{k=n+p}^\infty g_k z^k, \end{aligned}$$

where $g_k = \frac{\iota p}{k} a_k$. But

$$\begin{aligned} &\sum_{k=n+p}^\infty \frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} g_k \\ &= \sum_{k=n+p}^\infty \frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \frac{\iota p}{k} a_k \\ &\leq \sum_{k=n+p}^\infty \frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \frac{\iota p}{n + p} a_k \\ &\left(\frac{\iota p}{n + p} \leq 1 \right) \leq \sum_{k=n+p}^\infty \frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} a_k \\ &\text{(by (2.1))} \leq (p - \beta)(\gamma p - \gamma + 1). \end{aligned}$$

So the proof is complete.

Remark 2 : The radii of starlikeness and convexity of order σ ($0 \leq \sigma < 1$) for $G(z)$ and $F_\iota(z)$ respectively are as follows :

$$G(z) : \begin{cases} \text{(i)} & r_1 = \inf_k \left\{ \frac{(c+k)(p-\sigma)(k-\beta)(\gamma k-\gamma+1)\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{(c+p)(k-\sigma)(p-\beta)(\gamma p-\gamma+1)\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \right\}^{\frac{1}{k-p}} \\ \text{(ii)} & r_2 = \inf_k \left\{ \frac{p(c+k)(p-\sigma)(k-\beta)(\gamma k-\gamma+1)\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{k(c+p)(k-\sigma)(p-\beta)(\gamma p-\gamma+1)\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \right\}^{\frac{1}{k-p}} \end{cases} \tag{3.9}$$

$$F_\iota(z) : \begin{cases} \text{(i)} & R_1 = \inf_k \left\{ \frac{k(p-\sigma)(k-\beta)(\gamma k-\gamma+1)\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{\iota p(k-\sigma)(p-\beta)(\gamma p-\gamma+1)\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \right\}^{\frac{1}{k-p}} \\ \text{(ii)} & R_2 = \inf_k \left\{ \frac{(p-\sigma)(k-\beta)(\gamma k-\gamma+1)\Gamma(k-p+1+\mu)\Gamma(\nu+2+\mu-\lambda)\Gamma(k+\nu-p+2)}{\iota(k-\sigma)(p-\beta)(\gamma p-\gamma+1)\Gamma(k-p+1)\Gamma(k+\nu-p+2+\mu-\lambda)\Gamma(\nu+2)\Gamma(1+\mu)} \right\}^{\frac{1}{k-p}} \end{cases} \quad (3.10)$$

Theorem 3.6 : Assume that $f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k$, $g(z) = z^p - \sum_{k=n+p}^{\infty} b_k z^k$ be in $\Sigma_p^{\lambda,\mu}(\gamma, \beta)$, then the function $h(z) = z^p - \sum_{k=n+p}^{\infty} (a_k^m + b_k^m) z^k$, $m \in \mathbb{N}$ is also in $\Sigma_p^{\lambda,\mu}(\gamma, \beta_1)$, where

$$\begin{aligned} \beta_1 &< \inf_k \{ [p[(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)]^{m-1} (k - \beta)^m \\ &- 2k[(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)]^{m-1} (p - \beta)^m] \\ &/ [(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)]^{m-1} (k - \beta)^m \\ &- 2[(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)]^{m-1} (p - \beta)^m \} \end{aligned} \quad (3.11)$$

Proof : Since f, g belong to $\Sigma_p^{\lambda,\mu}(\gamma, \beta)$, then we have

$$\begin{aligned} &\sum_{k=n+p}^{\infty} \left[\frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(p - \beta)(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \right]^m a_k^m \\ &\leq \left[\sum_{k=n+p}^{\infty} \frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(p - \beta)(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} a_k \right]^m < 1, \\ &\sum_{k=n+p}^{\infty} \left[\frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(p - \beta)(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \right]^m b_k^m \\ &\leq \left[\sum_{k=n+p}^{\infty} \frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(p - \beta)(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} b_k \right]^m < 1. \end{aligned}$$

Consequently

$$\frac{1}{2} \sum_{k=n+p}^{\infty} \left[\frac{(k - \beta)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(p - \beta)(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \right]^m (a_k^m + b_k^m) < 1.$$

Now we must show

$$\sum_{k=n+p}^{\infty} \frac{(k - \beta_1)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(p - \beta_1)(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} (a_k^m + b_k^m) < 1.$$

But the last inequality holds true if

$$\begin{aligned} &\frac{(k - \beta_1)(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(p - \beta_1)(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \\ &\leq \frac{1}{2} \left[\frac{(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \right]^m \left(\frac{k - \beta}{p - \beta} \right)^m \end{aligned}$$

or

$$\frac{k - \beta_1}{p - \beta_1} \leq \frac{1}{2} \left[\frac{(\gamma k - \gamma + 1)\Gamma(k - p + 1 + \mu)\Gamma(\nu + 2 + \mu - \lambda)\Gamma(k + \nu - p + 2)}{(\gamma p - \gamma + 1)\Gamma(k - p + 1)\Gamma(k + \nu - p + 2 + \mu - \lambda)\Gamma(\nu + 2)\Gamma(1 + \mu)} \right]^{m-1} \left(\frac{k - \beta}{p - \beta} \right)^m$$

or $\beta_1 \leq \frac{Wp-k}{W-1}$, where W is the right hand side of the last inequality and this gives the result.

4. Quasi-Hadamard Product

Definition 4.1 : If the functions $f_j(z)(j = 1, \dots, m)$ be in the class $\Sigma_p^{\lambda, \mu}(\gamma, \beta)$ defined by

$$f_j(z) = z^p - \sum_{k=n+p}^{\infty} a_{k,j} z^k \quad (j = 1, \dots, m; n, p \in \mathbb{N} = \{1, 2, \dots\}),$$

then the Quasi-Hadamard product of the functions $f_j(z)$ denoted by $(f_1 * f_2 * \dots * f_m)(z)$, defined by

$$(f_1 * f_2 * \dots * f_m)(z) = z^p - \sum_{k=n+p}^{\infty} (a_{k,1} a_{k,2} \dots a_{k,m}) z^k. \tag{4.1}$$

Theorem 4.1 : Let $f_j(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \beta_j)$. Then $(f_1 * f_2 * \dots * f_m)(z) \in \Sigma_p^{\lambda, \mu}(\gamma, w)$, where

$$0 < w \leq p - \frac{n}{H(n+p, m) - 1} \tag{4.2}$$

and

$$H(n+p, m) = \left[\frac{(\gamma(n+p-1) - 1)C_p^{\lambda, \mu}(n+p)(n+p-w)}{(\gamma p - \gamma + 1)(p-w)} \right]^{m-1} \prod_{j=1}^m \left(\frac{n+p-\beta_j}{p-\beta_j} \right). \tag{4.3}$$

The result is sharp for the functions $f_j(z)(j = 1, 2, \dots, m)$ given by

$$f_j(z) = z^p - \frac{(\gamma p - \gamma + 1)(p - \beta_j)}{(\gamma(n+p-1) + 1)(n+p-\beta_j)C_p^{\lambda, \mu}(n+p)} z^{n+p}. \tag{4.4}$$

Proof : We prove this theorem by induction. For $m = 1$, we see that $w = \beta_1$. For $m = 2$, the inequality (2.1) gives

$$\sum_{k=n+p}^{\infty} \frac{[(\gamma k - \gamma + 1)(k - \beta_j)]C_p^{\lambda, \mu}(k)}{(\gamma p - \gamma + 1)(p - \beta_j)} a_{k,j} \leq 1 \quad (j = 1, 2; n, p \in \mathbb{N}),$$

thus

$$\sum_{k=n+p}^{\infty} \frac{(\gamma k - \gamma + 1)}{(\gamma p - \gamma + 1)} C_p^{\lambda, \mu}(k) \sqrt{\prod_{j=1}^2 \frac{(k - \beta_j)}{(p - \beta_j)}} a_{k,j} \leq 1. \tag{4.5}$$

Now, we must find the largest w such that

$$\sum_{k=n+p}^{\infty} \frac{(\gamma k - \gamma + 1)}{(\gamma p - \gamma + 1)} C_p^{\lambda, \mu}(k) a_{k,1} a_{k,2} \leq 1$$

or such that

$$\frac{k-w}{p-w} \sqrt{a_{k,1} a_{k,2}} \leq \sqrt{\prod_{j=1}^2 \frac{(k - \beta_j)}{(p - \beta_j)}}, \quad (k \geq n+p).$$

Besides, by (4.5), we need to find the largest w such that

$$\frac{k-w}{p-w} \leq \frac{(\gamma k - \gamma + 1)}{(p\gamma - \gamma + 1)} C_p^{\lambda, \mu}(k) \prod_{j=1}^2 \left(\frac{k - \beta_j}{p - \beta_j} \right)$$

or such that $\frac{k-w}{p-w} \leq Y(k)$, where

$$Y(k) = \frac{(\gamma k - \gamma + 1)}{(p\gamma - \gamma + 1)} C_p^{\lambda, \mu}(k) \prod_{j=1}^2 \left(\frac{k - \beta_j}{p - \beta_j} \right)$$

or $k-w \leq (p-w)Y(k)$ or $0 < w \leq p - \frac{n}{Y(k)-1}$.

Now, we define the function $\psi(k)$ by $\psi(k) = p - \frac{n}{Y(k)-1}$, ($k \geq n+p$). Since $\psi'(k) = \frac{nY'(k)}{(Y(k)-1)^2} \geq 0$ for $k \geq n+p$, therefore $\psi(k)$ is an increasing function and so

$$0 < w \leq \psi(n+p) \leq p - \frac{n}{Y(n+p)-1},$$

where

$$Y(n+p) = \frac{((n+p)\gamma - \gamma + 1)}{(p\gamma - \gamma + 1)} C_p^{\lambda, \mu}(n+p) \prod_{j=1}^2 \left(\frac{(n+p) - \beta_j}{p - \beta_j} \right),$$

therefore, the result is true for $m = 2$.

Now, assume the result is true for fixed natural number m . We must show that the result is true for $m+1$ natural number, that is $(f_1 * f_2 * \cdots * f_m * f_{m+1})(z) \in \Sigma_p^{\lambda, \mu}(\gamma, \eta)$, where η satisfies the condition

$$0 < \eta < p - \frac{n}{H-1} \tag{4.6}$$

and $H = \frac{((n+p)\gamma - \gamma + 1) C_p^{\lambda, \mu}(n+p)(n+p-w)(n+p-\beta_{m+1})}{(p\gamma - \gamma + 1)(p-w)(p-\beta_{m+1})}$, also w is given by (4.2). From (4.6) we have $0 < \eta < p - \frac{n}{H(n+p, m+1)-1}$. This shows that the result holds true for $m+1$. Therefore, using the induction, we obtain that for any positive integer m the result is true.

REFERENCES

- [1] S. P. Goyal and Ritu Goyal, On a class of multivalent functions defined by generalized Ruscheweyh derivatives involving a general fractional derivative operator, *Journal of Indian Acad. Math.* 27(2)(2005), 439-456.
- [2] V. Ravichandran, N. Sreenivasagan and H. M. Srivastava, Some inequalities associated with linear operator defined for a class of multivalent functions, *J. Inequal. Pure and Appl. Math.*, 4(4) (2003), Art. 70, 1-7.
- [3] T. Rosy, K. G. Subramanian and G. Murugusundaramoorthy, Neighbourhoods and partial sums of starlike functions based on Ruscheweyh derivatives, *J. Inequal. Pure and Appl. Math.* 4 (4) (2003), Art. 64, 1-8.
- [4] H. M. Srivastava, Distortion inequalities for analytic and univalent functions associated with certain fractional calculus and other linear operators (In *Analytic and Geometric Inequalities and Applications* eds. T. M. Rassias and H. M. Srivastava), Kluwar Academic Publishers, 478 (1999), 349-374.
- [5] H. M. Srivastava and R. K. Saxena, Operators of fractional integration and their applications, *Applied Mathematics and Computation*, 118 (2001), 1-52.

Received: August 10, 2007